Volumetric Calculations

1.

15.5mb of dilute hydrochloric acid reacts complelely with 20.8mlL of
0.0100mo L calcium hydroxide, Calculate the concentration of the hydrochloric

acid.
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3 A 0.100mel L~ H.80, solution is neutralised with
10.0mL of a selution of 0.300 MKOH,

Write a balanced equation for this reaction,

a W
b What volume of sulfuric acid was neutralised?
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15.0 L of a4 narie acidd selution is required 1o react
compietely with 10.0mL of & 0,100 malL-t CalOH),
sesluition,

a Write a balanced equation for this reaction,

b WWhat iz the cancentration of the mtric acid solution?
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18.26mL of dilute mitric acid reacts cory psé tely with
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solution.

a Wrile a balanced chermcal equation for the reaction

Between nitric acid and potassium hydroxide,

b Calculate the amount. in mol. of potassium
hydroxide consumed in this reaction.

reacled with the
potassium hydroxide in this reaction?

d Calculate the concentration of the nitric acid

¢ What amount in mol, of rutric acd
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1 hydrogen ohthalate (KH{C,H,0.)) is use

a primary standasd for the analysis
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Calculate the mass of anhydrous sodium carbonate
(Na,CO,) ;»ul,srw o prepare 250.0mL of a
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T?"w:. SIEINCT: |'r<slm u%’ a sulation of barium hydroxide (Ba(QH),} was delarrmned
by titration with a standard solution of hydrochloric acid.

_\,,Q:""‘é_éiiéf_‘)t« Ba(OH), solution was ttrated with 2 0.125molL~ solution
of HCL Tres of 17.23 mL. 17.28mL and 17.21 mL of HCl were required 1o reach
the end pomt.

What is the concentration of the barium hydroxide solution?
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Titration Involving Dilution

|
- Write a halanced chemical equation,
%

Use the concentration ﬁf’T" e standard solution
to calculate ?izi amaount, in mates, of the
prn Iy star dd[(ﬁ *t at reacted,

Use the mole ratic in the eguation 1o
derermine the amount, in moles, of diluted
unknown substance that reacted in the ttration,
Determine the concentration of the diluted
rikrown substance.
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Multiply the concentration of the diluted solution by
the dilution factor to determine the concentration ol |
the undiluted unknown substance
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A commercial conerete cleaner contains hydrochloric acid, A 25.00mL volurme

difuted to 250.0mLin a m)%;"‘]“i&"r‘%; flask.
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- Calculate the concentration of hydrochloric acid in the concrete clea ner,
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A commerc ul concrete cleaner contains hydrochloric acd, A 1000 mlL velume
of cleaner was diluted to 250.0mL in a oiun etric flask,
A 20.00mL aliquot of 0.2406 molL™ sodium carbonate solution was placed in
a um'i al flask, MH hyl orange indicator was added and the solubion was lilrated
ith the diluted cleaner, The mdsa l ir changed permanently from vellow 1o pink
‘&hua M‘%&_';Laf the cleaner was added.

l{ L “:P fhe concentr: 31 on of h ’.M?“x hiorie aci <i i the concrede cleaner.
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